

Remark:

If $\underline{X} \sim N_p(\underline{\mu}, \underline{\Sigma})$ then $\underline{Y} = \underline{a}\underline{X} \sim N(a\mu, a\Sigma a')$

where $\underline{a}$ is a $(1 \times p)$ vector of constants.

Proof:

$$\begin{aligned} \mu_Y(\underline{t}) &= E e^{\underline{t}'\underline{Y}} = E e^{\underline{t}'\underline{a}\underline{X}} = E e^{\underline{t^*}'\underline{X}} = \mu_X(\underline{t^*}) \\ &= e^{-\frac{1}{2}(\underline{t^*})' \underline{\Sigma}^{-1} \underline{t^*}} = e^{-\frac{1}{2}(\underline{t}\underline{a})' \underline{\Sigma}^{-1} \underline{t}\underline{a}} = e^{-\frac{1}{2}\underline{t}' \underline{a}\underline{\Sigma}^{-1} \underline{a}' \underline{t}} \\ &= e^{-\frac{1}{2}\underline{t}' \underline{a}\underline{\Sigma}^{-1} \underline{a}' \underline{t}} = e^{-\frac{1}{2}\underline{t}' \underline{a}\underline{\Sigma}^{-1} \underline{a}' \underline{t}} \end{aligned}$$

$$\therefore \underline{Y} \sim N(a\mu, a\Sigma a')$$

Ex Let $\underline{X} \sim N_p(\underline{\mu}, \underline{\Sigma})$ where $\underline{\mu} = \begin{pmatrix} 2 \\ 3 \end{pmatrix}$, $\underline{\Sigma} = \begin{bmatrix} 1 & 1 \\ 1 & 2 \end{bmatrix}$

Find the p.d.f of $Y = 2X_1 + X_2$

$$\underline{Y} = \begin{pmatrix} 2 & 1 \end{pmatrix} \begin{pmatrix} X_1 \\ X_2 \end{pmatrix}$$

$$\underline{Y} \sim N(a\mu, a\Sigma a')$$

$$\text{where } EY = \underline{a}\underline{\mu} = \begin{pmatrix} 2 & 1 \end{pmatrix} \begin{pmatrix} 2 \\ 3 \end{pmatrix} = 7$$

$$\text{var}(Y) = a\Sigma a' = \begin{pmatrix} 2 & 1 \end{pmatrix} \begin{bmatrix} 1 & 1 \\ 1 & 2 \end{bmatrix} \begin{pmatrix} 2 \\ 1 \end{pmatrix}$$

$$= (2)^2(1) + (1)^2(2) - 2(2)(1) = 2$$

$$\therefore Y \sim N(7, 2)$$

$$f(Y) = \frac{1}{(\sqrt{2\pi})^1 \sqrt{2}} e^{-\frac{1}{2(2)}(Y-7)^2}$$

43

$$\text{and } f(x) = \frac{1}{(2\pi)^{1/2}} e^{-\frac{1}{2} \begin{pmatrix} x_1-2 \\ x_2-3 \end{pmatrix}' \begin{pmatrix} 1 & -1 \\ -1 & 2 \end{pmatrix} \begin{pmatrix} x_1-2 \\ x_2-3 \end{pmatrix}}$$

If we have

$$Y_1 = 2X_1 + X_2$$

$$Y_2 = X_1 + X_2$$

$$\underline{Y} = \begin{bmatrix} Y_1 \\ Y_2 \end{bmatrix} = \begin{bmatrix} 2X_1 + X_2 \\ X_1 + X_2 \end{bmatrix} \Rightarrow \begin{bmatrix} 2 & 1 \\ 1 & 1 \end{bmatrix} \begin{bmatrix} X_1 \\ X_2 \end{bmatrix}$$

$$\therefore C = \begin{bmatrix} 2 & 1 \\ 1 & 1 \end{bmatrix} \Rightarrow \underline{Y} = C \underline{X}$$

$$\therefore \underline{Y} \sim N_2(C\underline{\mu}, C\Sigma C')$$

$$E(Y) = C\underline{\mu} = \begin{bmatrix} 2 & 1 \\ 1 & 1 \end{bmatrix} \begin{bmatrix} 2 \\ 3 \end{bmatrix} = \begin{bmatrix} 7 \\ 5 \end{bmatrix} = \begin{bmatrix} EY_1 \\ EY_2 \end{bmatrix}$$

$$\text{var}(Y) = C\Sigma C' = \begin{bmatrix} 2 & 1 \\ 1 & 1 \end{bmatrix} \begin{bmatrix} 1 & -1 \\ -1 & 2 \end{bmatrix} \begin{bmatrix} 2 & 1 \\ 1 & 1 \end{bmatrix}$$

If X_1, X_2 be two v.v.s.

$$\text{var}(X_1 + X_2) = \text{var}(X_1) + \text{var}(X_2) + 2\text{cov}(X_1, X_2)$$

$$\text{var}(Y_1) = \text{var}(2X_1 + X_2) = 4\text{var}(X_1) + \text{var}(X_2) + (4)(2)(1)$$

$$\text{var}(Y_2) = \text{var}(X_1 + X_2) = \text{var}(X_1) + \text{var}(X_2) + 2\text{cov}(X_1, X_2)$$

H.w. 1. $\underline{X} \sim N_2 \left(\begin{pmatrix} 2 \\ 3 \end{pmatrix}, \begin{bmatrix} 2 & 1 \\ 1 & 3 \end{bmatrix} \right)$

Find P.d.f. of

$$Y = \begin{bmatrix} 2X_1 + 3X_2 - 1 \\ X_1 + 2X_2 + 2 \end{bmatrix}$$

Remarque 1

if $\underline{x} \sim N(M, \Sigma)$, then $Y = Cx + d$ where d is a vector of constants of size $(P \times 1)$ Follow $N(CM + d, C\Sigma C')$

Proof

[illegible]

which is the m.g.f of $Y \sim N_p(cM+d, c\Phi c')$

$$c. f(x) = \frac{1}{(2\pi)^{p/2}} |C \otimes C'|^{-\frac{1}{2}} e^{-\frac{1}{2} x^T C^{-1} x}$$

$$\propto \gamma - (CM - d)$$

Example

If $\underline{X} \sim N_2 \left\{ \begin{pmatrix} 2 \\ 3 \end{pmatrix}, \begin{bmatrix} 2 & 1 \\ & 3 \end{bmatrix} \right\}$ Find p.d.f of

$$Y = \begin{bmatrix} 2X_1 + X_2 + 3 \\ X_1 + X_2 - 2 \end{bmatrix}$$

$$Y = C\underline{X} + \underline{d}$$

$$Y = \begin{bmatrix} 2 & 1 \\ 1 & 1 \end{bmatrix} \begin{bmatrix} X_1 \\ X_2 \end{bmatrix} + \begin{bmatrix} 3 \\ -2 \end{bmatrix}$$

$$E(Y) = C\underline{\mu} + \underline{d} = \begin{bmatrix} 2 & 1 \\ 1 & 1 \end{bmatrix} \begin{bmatrix} 2 \\ 3 \end{bmatrix} + \begin{bmatrix} 3 \\ -2 \end{bmatrix} = \begin{bmatrix} 10 \\ 3 \end{bmatrix} = \begin{bmatrix} EY_1 \\ EY_2 \end{bmatrix}$$

$$\text{var}(Y) = C \Sigma C' = \begin{bmatrix} 2 & 1 \\ 1 & 1 \end{bmatrix} \begin{bmatrix} 2 & 1 \\ & 3 \end{bmatrix} \begin{bmatrix} 2 & 1 \\ 1 & 1 \end{bmatrix} = \begin{bmatrix} 15 & 10 \\ 10 & 7 \end{bmatrix}$$

Q.) what the second moment of Y_1 around zero

$$\text{var}(Y_1) = E(Y_1)^2 - [E(Y_1)]^2$$

$$15 = EY_1^2 - (10)^2 \Rightarrow EY_1^2 = 15 + 100 = \boxed{115}$$

Q.) what the first moment of Y_2 around zero.

$$E(Y_2) = 3$$

Q.) Find the $EY_1 Y_2$

$$\text{cov}(Y_1, Y_2) = EY_1 Y_2 - EY_1 EY_2$$

$$10 = EY_1 Y_2 - (10)(3) \Rightarrow EY_1 Y_2 = 10 + 30 = \boxed{40}$$